Answers to Stats Packet Problems
· Remember that slight differences in wording are okay. Make sure you have something close to the capital letters in part C.

1. Swiney’s Regular vs Swiney’s Lite

A. 2-sample

B. There is no difference in sodium levels between regular and Lite pig’s feet.

C. If p<0.1, reject null ( they are different so Swiney’s is NOT GUILTY

D. p=0.0018, p<0.1

E. Swiney’s is not guilty of misadvertising (p=0.0018)

2. Physical fitness level and ego strength

A. 2-sample

B. There is no difference in ego strength levels between high and low fitness groups.

C. If p<0.05, reject null ( ego strength is different for different fitness levels

If p<0.01, reject null ( ego strength is different for different fitness levels

D. p=1.01E-8  (which is the same as 0.0000000101), p< both alpha levels given

E. Fitness level does effect ego strength (p=1.01E-8). 

3. Atomic clock

A. 1-sample, compare to actual speed of light: 3.00x108
B. There is no difference in the speed of light measured by the prototype and the actual speed of light.

C. If p<0.0001, reject null ( they’re different so the clock is NOT USEFUL for space travel

D. p=0.14, p>0.0001

E. The clock is useful for space travel (p=0.14)

4. Reading Activities – good buy?
A. 2-sample

B. There is no difference in test scores for students who used and did not use the activities.

C. If p<0.1, reject null ( they’re different, so the class with the higher scores was taught using the best activities and (if the treatment mean is higher) it’s a GOOD PURCHASE

D. p=0.029, p<0.1
E. Buy the curriculum because it works – higher test grades (p=0.029).

5. Crankshaft diameter 

A. 1-sample, compare to regular crankshaft diameter of 224

B. There is no difference in the diameter of a crankshaft from the Detroit distributor and the normal/accepted diameter of a crankshaft.

C. If p<0.05, reject null ( they’re different and the Detroit manufacturing company is making the WRONG SIZE crankshafts.

D. p=0.0016, p<0.05

E. The Detroit manufacturing company is making the wrong size crankshaft (p=0.0016).

6.  Smuggled Organs

A. 2-sample, compare smuggled organs to countries, there will be 6 separate tests.

B. There is no difference in the element content of the smuggled organs and the country being analyzed.

C. If p<0.1, reject null ( they’re different and the ORGANS ARE NOT FROM THAT COUNTRY 

	Element
	Malawi (100ppl) ng/mL
	Togo (13ppl) ng/mL
	Burkina Faso (200ppl) ng/mL

	Scandium
	p= 1.03E-18,p< 0.1  
	p= 0.66 p> 0.1
	p=1.8E-11, p< 0.1  

	Yttrium
	p= 6.6 E-7, p< 0.1  
	p=0.057, p< 0.1  
	p=2.5E-42, p< 0.1  


E.  Based on the scandium data we believe that the organs are from Togo. (p=0.66)  However, the inconclusive yittrium data could have resulted from the small sample size.
7.  Emu SPC Diet  

Means and standard Deviations:  Basic Diet : 1.5(0.213)kg 
Super Protein Chow: 2.55(0.44)kg
A. 2-sample

B. There is no difference in the amount of oil between the basic diet and the basic diet + super protein chow.

C. If p<0.05, reject null ( they’re different and the SUPER PROTEIN DIET IS EFFECTIVE AT PRODUCING MORE RUMP OIL.

D. p=0.0022, p<0.05

E. The basic diet with the super protein chow is effective at helping the emus produce more rump oil. (p=0.022).
8.  Emu Peanut Diet

Means and standard Deviations:  Basic Diet: 1.5(0.213)kg

Peanut: 4.13(0.476)kg

A. 2-sample

B. There is no difference in the amount of oil between the basic diet and the basic diet + super protein chow.

C. If p<0.05, reject null ( they’re different and the PEANUT DIET IS EFFECTIVE AT PRODUCING LARGER EMU’S and MORE RUMP OIL.

D. p=7.06E-6 , p<0.05

E. The basic diet with the peanuts is effective at helping the emus produce more rump oil. (p=0.022).

9.  Emu Diet (basic, SPC and Peanut)
A. 2-sample

B. There is no difference in the amount of oil between the different diets of the emus.
C. If p<0.05, reject null ( they’re different and the SUPER PROTEIN CHOW AND PEANUTS DIET IS EFFECTIVE AT PRODUCING MORE RUMP OIL.

D. SPC and peanuts vs. peanuts: p=0.524 , p>0.05, SPC and peanuts vs. SPC:  p=6.9E-4 p<0.05
E. The basic diet with the super protein chow and peanuts is more effective than just the SPC at helping the emus produce more rump oil. (p=6.9E-4).  However the SPC and peanuts is just as effective as the peanuts diet. (p=0.524)
10.  Heart rate therapy
A. 1-sample

B. There is no difference in heart rate with or without the therapy.

C. If p<0.05, reject null ( they’re different and the THERAPY DOESN”T WORK.

D. p=1.2E-8, p<0.05

E. The therapy doesn’t work. (p=1.2E-8)

11.  Second round of golf

A. 2-sample

B. There is no difference in the player’s score between round one and round two of golf.

C. If p<0.05, reject null ( they’re different and the students get better in the second round of golf.

D. p=0.61 , p>0.05

E. There is no difference from round one and round two in the player’s scores and they do not improve on the second round. (p=0.607)

